Test Review
Area and Perimeter (1.9 and Chapter 10)

( } Page 592: #1-6, 9-12, 22-24

Page 65: #27-32
Page 73: #3944
Page 590: #6-14, 19-25, 34-36

—

Page 592: #1-6, 9-12, 22-24

Find the arca of each figure, IT your answer is not an
integer, round to the nearest (enth.
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Page 65: #27-32
Find the area of each circle in terms of .
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Page 73: #39-44
Find the perimeter and the area of each ﬁgure.
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Find the circumference and the area of each circle to the nearest hundredth.
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Find the area of cach figure, If your answer is not an integer, Ieave it in simplest
radical form.
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Sketch each regular polygon with the given radius. Then find its area. Round your
answers to the nearest tenth.

O 12. triangle: radius 4 in. 13. square: radius 8 mm 14. hexagon; radius 7 cm
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Jregular decagon with radius S ft
. fegular pentagon with apothem 8 cm
. yegular hexagon with apothem 6 in.

./regular quadrilateral with radius 2 m
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A dart hits each dartboard at a random point. Find the probability That it lands in
the shaded area.
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